
** This is the way I would solve the puzzle. Some members can be solved in multiple ways :) 
 

NCT 2020 Logic Puzzle Walkthrough 
 
We can determine from the first clues provided that the member in B5  was born in 1999 is 
not a member of WayV. From our four options (Lucas, Mark, Xiaojun and Hendery), Mark is 
the only member that fits this criteria. 
 
Jaehyun is in C3. 
 
Mark and Jaehyun’s clues reveal that the member in D2 is a member of both NCT 127 and NCT 
Dream. Since Mark is already eliminated as an option, this only leaves Haechan.  
 
Ten is in C4 and Taeyong, the leader of NCT 127, is in B1. 
 
Xiaojun, Lucas and Hendery are in Row 5, in some order (NCT 2020’s clue). Ten reveals he is 
not adjacent to anyone who debuted in 2018. Since Lucas debuted in 2018, he cannot be in B5 
or C5, leaving only A5.  
 
Since visuals are not adjacent to each other (Jaehyun’s 2nd clue), Xiaojun has to be in B5, and 
Hendery has to be in C5. 
 
Despite Taeyong’s clue, Jisung is not in Column E. Because of Xiaojun’s clue, Renjun and 
Chenle cannot be in B2. Jaemin and Jeno cannot be in B2 either as they would be adjacent to 
Taeyong, who is a visual. This leaves Jisung in B2. 
 
Taeil is in D2. 
 
Two members of NCT are adjacent to Taeil, Haechan being one of them. The other member 
has to be in E2, as only Jeno and Jaemin, who were both born in 2000, can be in that box. That 
means that C1, C2 and E1 CANNOT be members who were born in 2000. This eliminates the 
possibility that Renjun is in C2, meaning he is in A2, so Chenle is in C2.  
 
Winwin and Yangyang have to be in A3 and A4 in some order (Xiaojun’s clue). They cannot be 
in C1, as Winwin would be adjacent to Taeyong (Jaehyun’s clue)  and Yangyang would be 
adjacent to Taeil. Winwin is not in D3 or D4 despite being a member of NCT 127, as he would 
be adjacent to Jaehyun. As Lucas is in A5, Winwin has to be in A3, and Yangyang in A4. 
 
It is only possible for Kun to be in C1. 
 
The only way possible for Yuta not to be adjacent to Jaemin is if Yuta was in D4 and Jaemin 
was in E2. This means that Jungwoo is in E1. 
 
Shotaro is in the same row as Yuta (Yangyang’s clue), so Shotaro is in B4.  
 
Jeno cannot be adjacent to Jaemin (Jaehyun’s clue), so he is in E4.  
 
Johnny is the only member left that begins with J, so he must be in E3. 
 
Since only members of NCT 127 can be in Column D, Doyoung is in D3, so Sungchan must be in 
B3. 
← Back to Carrd.co 

 

https://nct2020logicpuzzle.carrd.co/

